## LIST OF SUBCONTRACTORS

The Bidder is required to furnish the following information in accordance with the provisions of Sections 4100 to 4114, inclusive, of the Public Contract Code of the State of California. This list and information shall include all subcontractors that will perform work, provide labor or render services to the Bidder in connection with the project in an amount in excess of one-half of one percent of the total amount of Bidder's Total Bid Price.

Do not list alternative subcontractors for the same work. Use additional sheets if necessary.

NAME OF SUBCONTRACTOR	LICENSE NUMBER	DIR REGISTRATION NUMBER	LOCATION OF/ PLACE OF BUSINESS	TYPE & PERCENTAGE OF WORK
1.				
2.	¥.			
3.		,		
4.				
5.				
6.				
7.		* 6		
8.				
9.	£			
10.				
11.				
12.				
13.				÷
14.				
15.				

**END LIST OF SUBCONTRACTORS** 

Title: Wayfinding Signs in Antioch, CA

P.W. 679-1

Bids to be received by 2:00 PM November 8, 2022 Office of the City Clerk, City Hall, Antioch, CA

## SCHEDULE OF BID PRICES REVISION 3

Item No.	Unit	Quantity	Sign ID	Description	Unit Price	Extended Amount
1.	EA	12	A1	Civic Directional Large, complete in place for unit price per each		
				energies (histories) (histories and and	\$ 1,091.16 \$	13,093.87
2.	EA	10	A2	Civic Directional Medium, complete in place for unit price per each	A	6 507 74
					\$ 658.77 \$	6,587.71
3.	EA	10	А3	Civic Directional Small, complete in place for unit price per each		
				unit price per each	\$ 453.32 \$	4,533.20
	Ε.Δ	-	۸۳	Civic Identity - Panel, complete in place for unit		
4.	EA	7	A5	price per each	\$ 1,661.73 \$	11,632.13
_				Parking Identity & Regulatory, complete in		
5.	5. EA 16 A	A6	place for unit price per each	\$ 742.25 \$	11,875.92	
				Laura Dağlı İslamtiki İsamınlaka in mlasa fan imik		
6.	EA	2	B1	Large Park Identity, complete in place for unit price per each		
				Personal Per	\$ 25,713.55 \$	51,427.10
7.	EA	38	B2	Neighborhood Park Identity, complete in place		
		00	DZ	for unit price per each	\$ 17,844.61 \$	678,095.35
				Park Vehicular Directional, complete in place		
8.	EA	3	B3	for unit price per each	\$ 6,550.83 \$	19,652.50
					Ş 0,000.00 Ş	13,032.30
9.	EA	108	B4	Pedestrian Park Entry & Regulatory, complete		
				in place for unit price per each	\$ 3,866.31 \$	417,561.16
				Park Directory & Regulatory, complete in place		
10.	EA	1	B5	for unit price per each	\$ 18,929.52 \$	18,929.52
					À 10,323.32 À	10,323.32

Item No.	Unit	Quantity	Sign ID	Description	Unit Price	Extended Amount
11.	EA	3	В6	Amenity Identity, Freestanding, complete in place for unit price per each	\$ 784.94 \$	2,354.83
12.	EA	48	В7	Amenity Identity, Plaque, complete in place for unit price per each	<b>V</b> 70.131   <b>V</b>	2,0000
				Field Identity, complete in place for unit price	\$ 397.93 \$	19,100.6
13.	EA	7	B8	per each	\$ 233.35 \$	1,633.47
14.	EA	54	В9	Restroom Identity, complete in place for unit price per each	\$ 194.39 \$	10,497.22
15.	EA	8	B10	Pedestrian Directional, complete in place for unit price per each		
				Trail Directional (Trails & Active Transportation	\$ 5,090.30 \$	40,722.39
16.	EA	33	C1	Network), complete in place for unit price per each	\$ 673.32 \$	22,219.63
17.	EA	<sup>‡</sup> 1	C1	Trail Directional (Trail Wayfinding), complete in place for unit price per each	\$ 673.32 \$	673.32
18.	EA	2	D2	Rivertown District Park Identity, complete in place for unit price per each	\$ 4,711.22 \$	9,422.44
19.	EA	1	D3	Marina District Identity and Tenant Listing,	\$ 4,711.22 \$	3,422.44
19.	LA	,	D3	complete in place for unit price per each	\$ 46,461.36 \$	46,461.36
20.	EA	1	D4	Rivertown Pedestrian Directional, complete in place for unit price per each	\$ 26,155.68 \$	26,155.68
21.	EA	1	D5	Boat Launch Identity, complete in place for unit price per each	A 45 450 70 C	16 160 70
22.	EΑ	1	D6	District Identity Totem, complete in place for unit	\$ 16,169.79 \$	16,169.79
	1	•		price per each	\$ 1,465.74 \$	1,465.74
23.	EA	1	E1	Prewett Park Identity, complete in place for unit price per each	\$ 8,664.90 \$	8,664.90
24.	EA	1	E2	Water Park Identity, complete in place for unit price per each		

Item No.	Unit	Quantity	Sign ID	Description	Unit Price	Extended Amount
25.	25. EA 2		E3 Prewett Amenity Identity, complete in place for unit price per each			
					\$ 4,992.08 \$	9,984.17
26.	EA	1	E4	Secondary Amenity Identity, complete in place for unit price per each		
			unit price per each	\$ 6,868.86 \$	6,868.86	
27.	EA	, <b>1</b>	E5	Skate Park Mural, complete in place for unit price per each	\$ 5,399.42 \$	5,399.42
28.	EA	1	E6	Skate Park Regulatory, complete in place for unit price per each	\$ 1,732.68 \$	1,732.68
				TOTAL BID PRICE	\$ 1,467,023.71	

TOTAL BID PRICE: One Million Four Hundred Sixty Seven Thousand Twenty Three Dollars and Seventy One Cents (Written in Words)

All costs associated with the work required in the Plans and Specifications must be included in the bid items. This certifies that the prices in the proposal include all work as shown in the Plans and Specifications necessary to complete the work, in place and in full working order.

Signature of Bidder

Company Name Printed

## LIST OF SUBCONTRACTORS

The Bidder is required to furnish the following information in accordance with the provisions of Sections 4100 to 4114, inclusive, of the Public Contract Code of the State of California. This list and information shall include all subcontractors that will perform work, provide labor or render services to the Bidder in connection with the project in an amount in excess of one-half of one percent of the total amount of Bidder's Total Bid Price.

Do not list alternative subcontractors for the same work. Use additional sheets if necessary.

NAME OF SUBCONTRACTOR	LICENSE NUMBER	DIR REGISTRATION NUMBER	LOCATION OF/ PLACE OF BUSINESS	TYPE & PERCENTAGE OF WORK
1. None				
2.				
3.				
4			-	
5.				
6.				
7.				
8.				
9.				
10.				
11.				
12.				
13.				V.
14.				
15.				

**END LIST OF SUBCONTRACTORS** 

Title: Wayfinding Signs in Antioch, CA P.W. 679-1

Bids to be received by 2:00 PM November 8, 2022 Office of the City Clerk, City Hall, Antioch, CA

## SCHEDULE OF BID PRICES **REVISION 3**

Item No.	Unit	Quantity	Sign ID	Description	Unit Price Extended Amount
1.	EA	12	A1	Civic Directional Large, complete in place for unit price per each	\$ 1,850.00 \$ 22,200.00_
2.	EA	10	A2	Civic Directional Medium, complete in place for unit price per each	\$ 1,420.00 \$ 14,200.00
3.	EA	10	A3	Civic Directional Small, complete in place for unit price per each	\$ 1,330.00 \$ 13,300.00
4.	EA	7	A5	Civic Identity - Panel, complete in place for unit price per each	\$ 2,500.00 \$ 17,500.00
5.	EA	16	A6	Parking Identity & Regulatory, complete in place for unit price per each	\$ 1,200.00 \$ 19,200.00
6.	EA	2	B1	Large Park Identity, complete in place for unit price per each	\$ 35,000.00 \$ 70,000.00
7.	EA	38	B2	Neighborhood Park Identity, complete in place for unit price per each	\$ 24,000.00 \$ 912,000.00
8.	EA	3	В3	Park Vehicular Directional, complete in place for unit price per each	\$ 6,000.00 \$ 18,000.00
9.	EA	108	B4	Pedestrian Park Entry & Regulatory, complete in place for unit price per each	\$ 5,000.00 \$ 540,000.00
10.	EA	1	B5	Park Directory & Regulatory, complete in place for unit price per each	\$ 21,000.00 \$ 21,000.00

Item No.	Unit	Quantity	Sign ID	Description	Unit Price Extended Amount
11.	EA	3	B6	Amenity Identity, Freestanding, complete in place for unit price per each	\$ 10,000.00 \$ 30,000.00
12.	EA	48	В7	Amenity Identity, Plaque, complete in place for unit price per each	\$ 1,500.00 \$ 72,000.00
13.	EA	7	В8	Field Identity, complete in place for unit price per each	\$ 1,100.00 \$ 7,700.00
14.	EA	54	В9	Restroom Identity, complete in place for unit price per each	\$ 210.00 <sub>\$</sub> 11,340.00
15,	EA	8	B10	Pedestrian Directional, complete in place for unit price per each	\$ 5,000.00 \$ 40,000.00
16.	EA	33	C1	Trail Directional (Trails & Active Transportation Network), complete in place for unit price per each	\$ 1,550.00 \$ 51,150.00
17.	EA	<sup>1</sup> .1	C1	Trail Directional (Trail Wayfinding), complete in place for unit price per each	\$ 1,550.00 \$ 1,550.00
18.	EA	2	D2	Rivertown District Park Identity, complete in place for unit price per each	\$ 5,000.00 \$ 10,000.00
19.	EA	1	D3	Marina District Identity and Tenant Listing, complete in place for unit price per each	\$ 70,000.00 \$ 70,000.00
20.	EA	1	D4	Rivertown Pedestrian Directional, complete in place for unit price per each	\$ 32,000.00 \$ 32,000.00
21.	EA	1	D5	Boat Launch Identity, complete in place for unit price per each	\$ 32,000.00 \$ 32,000.00
22.	EA	1	D6	District Identity Totem, complete in place for unit price per each	\$ 11,500.00 \$ 11,500.00
23.	EA	1	E1	Prewett Park Identity, complete in place for unit price per each	\$ 30,000.00 \$ 30,000.00
24.	EA	1	E2	Water Park Identity, complete in place for unit price per each	\$ 21,000.00 \$ 21,000.00
				•	<u> </u>

Item No.	Unit	Quantity	Sign ID	Description	Unit Price	Extended Amount
25.	EA	2	E3	Prewett Amenity Identity, complete in place for unit price per each	\$ 6,000.00	<sub>\$</sub> 12,000.00
26.	EA	1	E4	Secondary Amenity Identity, complete in place for unit price per each	\$ 5,000.00	\$ 5,000.00
27.	EA	1	E5	Skate Park Mural, complete in place for unit price per each	\$ 6,000.00	\$ 6,000.00
28.	EA	1 ,	E6	Skate Park Regulatory, complete in place for unit price per each	\$ 1.900.00	\$ 1,900.00
				TOTAL BID PRICE	\$ 2,092,540.0	00

TOTAL BID PRICE: Two Million Ninety Two Thousand Five Hundred Forty Dollars (Written in Words)

All costs associated with the work required in the Plans and Specifications must be included in the bid items. This certifies that the prices in the proposal include all work as shown in the Plans and Specifications necessary to complete the work, in place and in full working order.

Signature of Bidder

A Good Sign & Graphics Co.

**Company Name Printed**